Freaale A%MM o (7

O\ Guler O 2 /‘(Hfjnwxm"'s. S‘(’\f‘t,Wm in ovder .
Be cure Your nime 15 M Qrst cheet

) Hendk in tale-howe Po\r‘f' o lest

Z) T+ jou missed. He dest Fr"lﬂj ) PUMSZ arravel & hie
+ V\MLL 04' M.P Wwith me .

Y) Sechon 3.1 Aokes
5)pl¥a-if0 18,253,732 43,45
Sechov 31 Quadrapic  Funchoas

Two Forwms
Cenavil
Fox= ax®+ bxre
I‘c ﬁ70/ orﬂylﬁ u‘; —VQ(W VC(J{)\: x: "i
Sk VAT MU Za
218 =th
I a<0, opes donon - verdex H= ( 2a>
)0l L x-iats: Solve ax* bxt =0
Dy (=] grat: (0,
R= u,W) f 220 _ Ttk
n [é'oo u] ..4: 7D Xi9 oF ?\jW\MU"‘j' X= E&:
W= \j-COWd\'MJrC oc verd x D:(—m' oo)
R= [k,w) it 2>0
Ve\r-k)( FWM [ oo,k] f a< 0O
Py = a(x-h) +k Wﬁw (h, k) .
ax'$ of $ VV\W\-L"'Y : XE
1t av0 | opens up V) S TRIY. a(x?l«.)‘fk T

I‘F n< D, OPQv\S Adown /\ \3-l'mt.' «t X=0




wn
"\
Qo
o _” - b
\ (\ gt I~
N o~ \ v /-l\ Au S . \’
e _—~ O e
- N X)) - \ 4
nu_l = qm O M <9 W
¥ ' i N o r
il () IV L] | s PR
<8 : T e T LTS
<« == = \s —— ﬂ ﬁ lll. I-
. N (T 3 ~ L] A TS o =
: — [} z.f\ ¢ [ | ' 0 ' 7 N
& : ShlEme ' <) ' W Kl T .
RS 0 W I\ T LA T R D E
m .’ 3 -‘ W 3 . e /.\ N n
9-— n%l i o Im = g : _
m . . (V4 I.H .—' . N - <
X A - -~ | — . -
| . C O [ 6 b
o N MO\ 1
o - = \ ] N
S N ENP W[ A,
M~ | LK =
< " -
M w fw Ly WA
- C 1] lan ~ | X -3
M + oo L Jd, \ v M
] W N S
I " l& x s A
X N\ 3 -
. EEE EARE: T
W h“, “\ v.n. o D el 3 W =
V = ’.ﬂ N > I\V [— 4 Y g H Y s
ﬂlrl ] w w o
a) ) s = pU “
SIOIOESGI OIS INES ia;
- NS MW = :
.m lAL \ > =,
\ = v
’..I ) < '\
. \r
\7 JJ :l
D ) T\
i Al > = =




10

o/

10/






